#51 Florence Corridor C2 Trail Rehab

State of Wisconsin Department of Natural Resources dnr.wi.gov

Motorized Recreation Grant Application

For: (choose all that apply) Form 8700-159 (R 02/2024)

Page 1 of 5

Due Date: April 15

Snowmobile Trail Aid

Notice: Completion of this form is required under Wisconsin Statutes 23.09(26) and 23.33. Failure to complete this form will result in denial of financial assistance. Personally identifiable information found on this form is not intended to be used for any other purpose. The Department of Natural Resources (DNR) may provide this information to requesters as required by Wisconsin's Public Records law (ss. 19.31 – 19.39, Wis. Stats.). **DNR Use Only** Instructions: Applications may combine more than one source of funds. They may be submitted for consideration of traditional ATV, UTV, Snowmobile and Motorized Category Number Stewardship funding. Submit one copy of all forms and attachments. See Page 2 for

necessary attachments. Send appl												
Section 1: Applicant Information	n					·						
Applicant / Organization Name						Check Recipient: Individual other than authorized individual to act						
Florence County Forestry and Parks						on behalf of the applicant. Select if the same as applicant.						
Individual Authorized to Act on Behalf of Applicant per Resolution					Check Recipient Name (Name to Appear on Check)							
Mathew Gummin					Mathew	Gummir	1					
Title					Γitle							
Recreation Manager					Recreation Manager							
Address					Address							
5617 Forestry Drive					5617 Forestry Drive							
City State ZIP Code					City State ZIP Cod					ZIP Code		
Florence WI 54121					Florence WI 54121					54121		
Telephone Number		Email A	ddress	-				-		•		
(715) 528-3207		mgumr	nin@fl	orencec	ountywi	.gov						
Section 2: Project Information	Required	for all	Project	s								
Project Title					Current Funded Miles New Miles (if applical			applicable)				
C2 Bridge to Bridge 2025						175.2						
County	Township	Range	• • E	Section	1/4 1/4	1/4	GPS Coordinate Lat. 45.922					

Project Description Summary

Florence

Florence County would like to perform a rehab on Corridor C2 which connects Wisconsin to Michigan. The State of Florence County would like to perform a rehab on Corridor C2 which connects Wisconsin to Michigan. The State of Michigan lies to the east and west of Florence County and C2 serves as the primary connection between the two states. It also provides the only connection to the western half of Florence County for ATV/UTV riders. This 13.7 mile long project will need an estimated 18,760 yards of gravel placed 6" thick then graded and compacted to 4". The original iron ore bed is still intact so no improvements are necessary. Since the pandemic, the dramatic increase in new ATV/UTV riders added to already staggering numbers of existing trail riders, Corridor 2 has been wearing away rapidly. The original 4" gravel cap has worn off leaving behind fine sands and silty dust making visibility a safety issue. We also experience dust out conditions along approximately 3.7 miles of the US2 Highway Corridor in areas with little to no vegetation barrier. This project will take an estimated 1095 hours of hauling and 6 weeks to complete barring any unforeseen circumstances. We have applied for RTP (\$250,000.00) and are asking for the remaining 80% to be covered by ATV/UTV (\$84,658.65) and remaining 20% (\$21,164.66) from the Snowmobile program.

20

SE

SE

Long. -88.2608198

40 N | 18 OW |

I certify that all maintenance land use agreements are on file.

Acquisition	Insurance	Development		Bridge Rehab.	Trail Rehab.	Total Estimated Cost
					\$355,823.31	\$355,823.31
	Lea	ve Blank – Dl	NR U	se Only		
ication						
Authorized Official			Offici	al's Title		
in			Recr	eation Manager		
authorized official,	I certify that, to the	best of my kn	owle	dge, the information	n in this application	is true and correct.
		-				
Authorized Official				Da	ite Prepared	
	cation Authorized Official in authorized official,	Cation Authorized Official in authorized official, I certify that, to the	Leave Blank - Di Cation Authorized Official in authorized official, I certify that, to the best of my kn	Leave Blank – DNR U Cation Authorized Official in Recr authorized official, I certify that, to the best of my knowled	Leave Blank – DNR Use Only Cation Authorized Official in Recreation Manager authorized official, I certify that, to the best of my knowledge, the information	Leave Blank – DNR Use Only Cation Authorized Official in Recreation Manager authorized official, I certify that, to the best of my knowledge, the information in this application

Motorized Recreation Grant Application

Form 8700-159 (R 02/2024)

Page 5 of 5

Appendix B -	Required for	r Trail/Qu	alified	l Trou	ıte F	Reh	ab, Re	route,	or Dev	/elopn	nent			
	ab 🔲 0	Qualified Tr	oute		Nev	v Tr	ail	Tr	ail Rero	oute (M	andat	ory or D	iscre	etionary)
County		Township	Range	⊙ E	Sect	ion	1/4 1/4	1/4	GPS (Coordina 45.92	ates: 22177			
Florence		40 N	18	OW	20		SE	SE		j. - 88.2				
Funded Trail Name or Number (SNARS if applicable) Has this trail ever received development or rehabilitation funds in the past? No Year: 2014 \$ 105,495.00														
C2						<u>'</u>		• Ye		No				105,495.00
Trail is located on:				ength o	of Ea	sem	ent or L	andowne	r Use A	greeme	nt	Expiration	on Da	te
Private pro	. , ,	lic property			Stat	te ov	vned - 1	erpetua	l agree	ment	years			
Landowner Where Trail is Located Telephone Number														
State of Wiscons														
What other recrea	tional trail uses a	are planned	for this	trail?										
No other uses planned If there are other Recreational uses planned, how much of the trail development/rehab. cost will be paid for by other users?														
How many miles v	vould be affected	d if this proje	ect is no	t funde	d?	V	/ill this re	esult in cl	losure o	f a trail?)			
	0										\bigcirc Y	es 💿 l	No	
Is this a critical se	ction to the over	all trail syste	em?	Is ther	e a r	easc	nable a	Iternative	?					
		• Yes () No	No										
Does any section contain a bridge?	of this trail • Yes		this bric				bilitation	now 'es •		What is grading			our p	uller & drag/
	0 0											28,44	.0	lbs.
Yes														
Yes No Is a permit needed? (Please provide any written correspondence from WMS.)														
Yes														
Yes No Will this project be located near or cross any wetland?														
○ Yes ● No	Yes													

Trail Project Detailed Description

Florence County would like to perform a rehab on Corridor C2 which connects Wisconsin to Michigan. The State of Michigan lies to the east and west of Florence County and C2 serves as the primary connection between the two states. It also provides the only connection to the western half of Florence County for ATV/UTV riders. This 13.7 mile long project will need an estimated 18,760 yards of gravel placed 6" thick then graded and compacted to 4". The original iron ore bed is still intact so no improvements are necessary. Since the pandemic, the dramatic increase in new ATV/UTV riders added to already staggering numbers of existing trail riders, Corridor 2 has been wearing away rapidly. The original 4" gravel cap has worn off leaving behind fine sands and silty dust making visibility a safety issue. We also experience dust out conditions along approximately 3.7 miles of the US2 Highway Corridor in areas with little to no vegetation barrier. There have been complaints over the years regarding the amount of dust created most notably during the weekend which typically starts on Thursday and ends on Sunday. Those living trailside are the ones most affected by this and complaints range from dust covered vehicles, houses, and even their yards. This project will take an estimated 1095 hours of hauling and 6 weeks to complete barring any unforeseen circumstances. We have applied for RTP (\$250,000.00) and are asking for the remaining 80% to be covered by ATV/UTV (\$84,658.65) and remaining 20% (\$21,164.66) from the Snowmobile program.

State of Wisconsin Department of Natural Resources PO Box 7921, Madison WI 53707-7921 dnr.wi.gov

Recreation Grant Project Cost Estimate Worksheet

Form 8700-014 (R 02/23)

Page 1 of 2

For use with Recreation Grant Application Forms

Project Name:		Prepared By:	Date
C2 Bridge to Br	ridge 2025	Mathew Gummin	04/11/2024
County	Project Applicant:	Landowner Name	Public
Florence	Florence County Forestry and Parks	Florence County	O Private

\downarrow	DEVELOPMENT PROJECT ITEMS List by individual item or break down by Use Areas (See Item List On Back Of This Form)	Quantity	Unit of Measure	Component Costs	Estimated Total Item Cost
С	Tandem 128	1,095	hr	\$60.00	65,700.00
С	Tag Trailer 493	2	hr	\$26.00	52.00
С	Grader 307	20	hr	\$77.20	1,544.00
С	Dozer / Skidsteer 217	959	hr	\$53.00	50,827.00
С	Loader 207	313	hr	\$52.00	16,276.00
С	Tractor w/ Wobble Wheel 283+530	10	hr	\$44.38	443.80
С	Bale Mulcher 9284		hr	\$36.24	
С	AFE Forestry Head 932		hr	\$33.62	
С	Fecon Mulching Head 9408		hr	\$41.80	
С	ATV/UTV 9145		hr	\$19.00	
С	Mower 413		hr	\$16.00	
С	Harrow / Disc 919		hr	\$11.00	
С	Auger 915		hr	\$32.00	
С	Excavator 511		hr	\$58.94	
С	Tractor 221		hr	\$39.22	
С	Truck 101		hr	\$16.00	
С	Gravel (6" compacted to 4")	18,760	yd	\$8.00	150,080.00
С	Iron Ore		yd	\$8.00	
С	Riprap		yd	\$20.00	
С	Concrete		yd	\$160.00	
С	Concrete (Bags)		ea	\$6.00	
С	Erosion Control (silt fence, matting, erosion fabric)		ls	\$1,200.00	
С	Grass Seed, Wildlife Mix, Roadside Mix		ea		
С	Labor	1,369	hr	\$51.79	70,900.51
	<u> </u>			TOTAL \$	\$355,823.31

NOTE:

- For development projects, contingency and indirect costs are <u>not</u> eligible expenses.
- For acquisition projects, complete the Acquisition Project Cost Estimate Section of this form.

















